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1. Introduction
In last RAN4 #83 meeting, the RSRP requirement for non-BL/CE UE was discussed and some agreements were duplicated as below: 

	Companies are invited to provide simulation results for the following scenario:

· CE Mode B; SINR range -15 ≤ Ês/Iot < -6dB 

· Propagation conditions: AWGN, ETU 1Hz, EPA 1Hz

· Residual CFO: 50Hz

· Comparative measurements, TX port 0 using 1 vs 2 RX branches

· Measurement period 1600ms (gap ID 1)

· Central 90% (5th and 95th percentile)

· At least one simulation point in -15 ≤ Ês/Iot < -12dB and -12 ≤ Ês/Iot < -6dB, respectively

Moreover, companies are encouraged to provide the following input:

· RF margin for non-BL/CE UE


For R14, the simulation results of RSRP accuracy for CE MODE B of different companies are compared in the contribution [1-3]. CR on absolute RSRP accuracy for R14 non-BL/CE UE is provided in companied contribution[4].
2. Simulation results 
In this section, simulation results from several companies are compared. Non-BL/CE UE assumes 2Rx for CE Mode B for AWGN, ETU1 and EPA1 respectively. The max deviation of 5th or 95th percentile from ideal RSRP result is shown in table 1 and table 2 for -12 ≤ Ês/Iot ≤ -6 dB and -15 ≤ Ês/Iot ≤ -12 dB respectively.
Table 1: Maximum deviation of 5th or 95th percentile for -12 ≤ Ês/Iot ≤ -6 dB     
	
	Intel (1Rx/2Rx) dB
	Ericsson(1Rx/2Rx) dB
	Huawei(1Rx/2Rx) dB

	AWGN
	2/1.2
	1.3/1.5
	3.35/2.32

	EPA1
	4/2.1
	4.2/3.8
	4.19/2.46

	ETU1
	3/1.6
	5.5/3.3
	4.15/2.98

	Largest deviation
	4/2.1
	5.5/3.8
	4.19/2.98

	improvement
	1.9
	1.7
	1.21


Table 2: Maximum deviation of 5th or 95th percentile for -15 ≤ Ês/Iot ≤ -12 dB     
	
	Intel (1Rx/2Rx) dB
	Ericsson(1Rx/2Rx) dB
	Huawei(1Rx/2Rx) dB

	AWGN
	3.7/2.6
	2.2/2.4
	7.46/5.26

	EPA1
	6.3/4.2
	3.4/3.9
	5.89/4.68

	ETU1
	5.4/3.5
	4.1/3.1
	7.15/5.42

	Largest deviation
	6.3/4.2
	4.1/3.9
	7.46/5.42

	improvement
	2.1
	0.2
	1.04


For -12dB ≤ Ês/Iot ≤ -6dB case, the improvement is 1.9 dB/1.7dB/1.21dB for different companies.
For -15dB ≤ Ês/Iot ≤ -12dB case, the improvement is 2.1 dB/0.2dB/1.04dB for different companies.
Proposal 1: for -12dB ≤ Ês/Iot ≤ -6dB case, RSRP absolute requirement can be tighten by 1.2dB.
Proposal 2: for -15dB ≤ Ês/Iot ≤ -12dB case, RSRP absolute requirement keep the same.

3. Conclusions

Proposal 1: for -12dB ≤ Ês/Iot ≤ -6dB case, RSRP absolute requirement can be tighten by 1.2dB.

Proposal 2: for -15dB ≤ Ês/Iot ≤ -12dB case, RSRP absolute requirement keep the same.
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